asym_usl

asym_dsl

asym_usr

asym_dsr

diff_

2000

1000

=1000

=2000

=3000

-6 -4 -2 0 2 4 6

diff_bopm4aX/um
diff

2000

1000

=1000

=2000

=3000

-6 -4 -2 (1] 2 4 [
diff_bpmdax/um

6000

4000

2000

=2000

=4000

=6000

=
IIIIIIIIIIIIIIIIIIIIIIIIIIIIII

—E- -4 -2 0 2 4 [

diff_bpmdaX/um

diff _

80000
60000
40000

20000

"

20000

40000

B0000 [ | [

run3524 000 regression-asym main

300

200

100

—(45(

—35(

—(45(

—{35(

100

2000
1000 [
of-
~1000 [
~2000
- 100
~3000
= [ |
B | | | | I | | | | L1 | | | | | | | | | | | ﬂ
10 5 0 5 10
diff_bpmdaYium
djfL
B I
B —{ 500
2000
R —anc
1000 [
o
~1000 [
~2000
. 100
~3000 .
B | | | | | | | | | | | | | | | | | | | | | | {'
10 5 0 5 10

%

diff_bpmda¥/um

_bpm4aY

000

i — 400
4000
2000 o

o [

i 200
~2000 -
_4000 [

. 100
6000

N A A I I I A A i I A A A 0

10 5 0 5 10
diff_ bpmdaYium
difL
I

80000 -

N —a5c
E0000 —

. —lanc
40000 g

i —ap0
20000 -

. m |

o

20000 [~
40000
0000 :— - 50

aindet-vs diff bpm

diff_

N — _|
- a0l
2000 e
1000 |- 7l
[ —g0c
o
~1000 |-
~2000 |
~3000 [~ 10
N [ |
_I 11 | L1 11 | L1 11 | L1 11 | L1 11 I L1 11 | L1 11 | 111 ﬂ
30 -20 -10 O 1w 20 30
difi_bpmdeX/um
l-
B _
2000 e
R —|70c
1000 [~
N —goc
o
~1000 |-
~2000 |
~3000 [ .
_I [ | L1l 11 | L1 11 | L1 11 | L1 11 I L1 11 | L1 11 | L1
D -20  -10 O 10 20 30
diff _bpmdeX/um
l
s —a00
&000
i —35(
4000
C = —30(
2000
0 [
- u
N |
—2p00
_ 4000 - m
@000 u
. m
b b b b b b L 0
ap 20 -10 0 m 20 30
difi_bpmdeX/um
d .
80000 [ —
C —anc
&0000
- —agg
40000
. —anc
20000 |- -
. B
o 200
. B
20000 [ 15(
60000 |- n 50
B | 11 I_|_| L1 11 | 111 | I 111 | | L1 11

Jum

1000

= 1000

= 2000

=3000

E

2000

1000

= 1000

= 2000

= 3000

diff _ hpmélcY

6000

4000

2000

= 2000

=4000

= G000

EH}DDEI

60000

40000

20000

20000

40000

60000

I
10 -5 0 5 10
diff_bom4eY/um

_bpmdeY

diff_bpmdaY/um

10 -5 0 5 10
diff_bpmdeY/um

300

200

100

300

200

100

—45(

—35(

25(

200

150

100

200

100

- —10(
2000 -

1000 :— —{8oc

: [ |

O BOC
~1000 [

- 400

~2000

. 200

~3000 |-

| H

B | L 11 | L1 1 | L1 1 I L 11 | L 11 | L1 1 | L1 1 I ﬂ

40 -20 0 20 40 B0 BD 100

diff_bpmEfum
l-

- —10(
2000

B —{anc
1000 |

[ =

ok —500
~1000 [ anc
~2000

- 200

~3000 |- i
| L1 1 | L1 1 | L1 1 I L1 1 | L1 1 | L1 1 | L1 1 I ﬂ
40 -20 0 20 40 B0 BOD 100
difi _bpmEfum
l-

- —laoc
so00 —aoc
ao00 - —{700

- —B0(
2000

i 50(

D __
[ B 40(
_2p00 -
i 300
4000 — 00
— n
~BOOO _— 100

— n

oo e b oo b a oo baaal 0

40 -20 0 20 40 B0 BOD 100

diff_bpmEfum
difL
80000 — ]
= [ |
[ —lanc
&0000 |-

- — 700
40000 |-

I — 500
20000

B EOC

o m

— 400
20000 a0l
40000 200
60000 [ n 100

| L 11 | L1 1 | L1 1 I L 11 | L 11 | L1 1 | L1 1 I ﬂ

L.Z postpan.png

40 =20 0 20 40 60 a0 100
diff _bpmEfum



reg_asym_usl

reg_asym_dsl

reg_asym_usr

reg_asym_dsr

i —a5¢
00
| - —anc
400 —a5(
] i
200 g
0 [
200 [
~400 [
-600 |-
5 n >0
_B.DD [ | | L 11 I L1 1 | L1 1 | L1 1 | L 11 | L1 1 | [ D
6 4 -2 0 2 a 5
difi_bpmdaX/um
difL
| I
00
I —45¢
I -
400 —a0c
| i
] - —|as5¢
200 g
(1] [ u
i * m
200 m
_apo
600 -
- m
_B.I}D _| | | L1 1 I | I | | L 1 1 | | | | L 11 | | I | | L1 D
6 4 -2 0 2 a 5
difi_bpmdaX/um
difL
) |
- = 45
000 a0
4000 |- —asc
R —ap¢
2000 [
- a5
e
i 20
-2000 [ -
4000 [ 100
G000 |- 50
I -
I T TN e 0
5 4 2 0 2 a G
difi_bpmdaX/um
difL
80000 [~ — - —{0C
o000
i —a0c
40000 |-
20000 - a0
I n
0 [
i I -
N 20
20000 [
40000 Jor
80000 "
- H
B | L 11 I L1 1 | || | L1 1 | L 11 | L1 1 | [

run3524 000 regres:

200

=200

~400

=600

- 800

600

400

200

=200

~400

- 600

- 800

di

8000

6000

4000

2000

=2000

=4000

6000

80000

60000

40000

—45(

—35(

250

200

15(

100

=10 -5 1] 5 10

diff_bpmda¥ium

—45(

—35(

250

200

150

100

.

=10 -5 0 5 10

diff_bpmda¥/um

_hpmélaL .

—45(

—35(

10 -5 0 5 10
diff_bpmda¥ium

diff
(I

m —45(

—40c

—a5(

—30(

20000

20000

40000

60000

250

200

150

100

50

11 1 1 |

-m

ressmn-wreg maln

det vs diff é‘

| I
_ —anc
a0 N
| - —asc
s 4DD_—
! - —30(
200 |-
ﬂ_
o0 T
=400 —
oo0f- .

B [ |
_EDD_IllllllllllII|IIII|IIII|IIII|IIII|III ﬂ
30 -20 =10 O 0w 20 30

difi_bpmdaX/um
diff _bpmdeX
I
- —anc
B00
| B a5
. 400 -
1' - —{a0c
200
ol
[ =
~200
_apo
600 -

i m
_E.DD_IllllllllllII|IIII|IIII|IIII|IIII|III ﬂ
ap  -20  -10 O W0 20 an

difi_bpmdaX/um
difL
BOOO — —45(

B [ ]

o000 |- —[40t

[ —asg
4000

- [ |

- —anc
2000 [~

N 35(

ﬂ,'_

- i 200
2000 [~ 15¢
_apon

- i 100
@000 - 50

- m

o bbb b e v oo b 0

a0 -20 -10 O 0 20 3D
difi_bpmdaX/um
d.
80000 [~

N —lanc
&0000

- —|as(
40000

i —{ 300
20000 | m

'I]_— [ |
20000 [~
40000 r
60000 |- - "

- u —45(
a0 —
| i —lanc
400 —
| [ —35¢
- W |
200 [~ - .
o - a5(
300 :— . 200
R 15¢
~400 — @
- 100
=500 —
i 0 >
—B‘DD _l | 11 | | I . | | | I I | | | I | I L1 D
10 -5 0 5 10
diff_ bpmdeYium
dithpméleL
600 - —=50c
I -
400 |-
: i —{400
] . u
200 |-
o . anc
a0
- 200
[ m
400 -
- 100
~B00
- n
_B{?D _l | L1 | | L1 | | L1 | | | | | L1 I 1 1 D
10 -5 ) 5 10
ditf_bpmdeYium
diff _ hpmélc Y
8000 - —{50
000 |-
. —anc
4000
C u
2000 [ 300
0 [
- m
- I 200
~2000 [~
. |
~4000 = 100
_g00n -
- m
H [ N N T N A A T M A I I A O B 0
10 5 0 5 10

diff

diff_bpmdeY/um

hpméleY B

B000O [
o000

i —{ 400
40000 [
20000 |- 30

b

§ 200
20000 | u
40000 = 100
o000 "

- [ |

10

" postpan:png

600 —8oc
| - n
-~ 400 |- —{700
| -
1 -

200 - o

- 500

D -
= 400
-200 [~
- 300
=400 N
- 200
=600 N
[ - 100
_B.DD _l L 11 | L1 1 | L1 1 I L 11 | L 11 | L1 1 | L1 1 I ﬂ
40 =20 0 20 40 60 BOD 100
diff_bpmEfum
diff_
- —800
&00
. —{8oc
I -
400
: - o A,
| .
o 50
_spo [ @ A0

i 30(

~400

- 200

~800

. - 100

_'B.DD —l L1 1 | L1 1 | L1 1 I L1 1 | L1 1 | L1 1 | L1 1 I ﬂ

40 =20 0 20 40 60 BOD 100

difi _bpmEfum
difL
8000 | —

B [ ] a0l
B000 —lanc
4000 — —{700

N —goc
2000 [~

- 500

o

[ = 400
~2000 [~ -
_4p00

- - 200
G000 — 10(

- m

I N T N N 0

40 =20 O a0 40 60 BOD 100

diff_bpmEfum
difL
80000 — — . —a0(
0000 —{Boc

R —|700
40000 [~

Z —l&0c
20000 [~

- 500

D -

- b A0C
20000 [~ 00
40000 300

- [ |

| L 11 | L1 1 | L1 1 I L 11 | L 11 | L1 1 | L1 1 I ﬂ

40 =20 0 20 40 60 a0 100
diff _bpmEfum



asym_usl

asym_dsl

asym_usr

asym_dsr

F - y2/ndf  36.32/39
1500 | -
- _I} I p0 1.633 + 2.061
1000 E_ [IHIII ++# p1 -196.8+1.5
500 |
of
500 2
: |
1000 IIIII]l
f e
B II | II 1 1 II 1 11 II 1 1 I 1 1 II 1 1 II T 1 1

-E -4 -2 1] 2 4 6

- _ ¥2 [ ndf 36.4 /39
1500 | -
E -h 1I p0 1.884 + 2.062
1000
; [I b o1 201.4+15
I 1y
EHD:-
of
500
: il
-1000 |- IIIIIII}I
- o
_1500 i 1 II | II L1 II L1 1 II L1 I L1 II L1 II L1 1

-6 -4 -2 0 2 4 [

diff_bpm4aX

¥2 / ndf 32.24 /39

p0 3.199 + 7195 t
p1 72.48 £ 5.32
oF i |
=1000 }' I -
=200 ;'
=000 N
it NN N T T T T T T T O O N A O

-6 -4 -2 1] 2 4 [

diff_bpmd4aX

¥ / ndf 30.82 /39

p0 47.62 £ 73.20

p1 ?E}B.BWI IIII }
| I )

| I
mnnn:— i kIII |
20000 —

30000 |
‘III rl III L1 III I L1 1 II III L1 III L1

run3s24 000 resres:

ression asvm main

diff _

oo b x2/ndf  28.57/38

1600 p0 2873+2510

800
p1 -§.28 +1.23

600

400

200

! _-

i IIIIIIMWII'&‘

=200

=400

- 600

clvv v v v b v by g
=10 -5 0 o 10

diff_bpm4daY

E

_bpmdeX

. ¥2 [ ndf 46.11 / 41
2000
- 1 0 . +1.
1500 & IIIH1H p 0.5548 = 1.3173
- Hy _
1000 £ . p1 52.98 = 0.18
500
o
500
~1000 he,
- i {
~1500 IIIII'I
II IIII IIII 1111 III IIII IIII 1 111 IIII III 11

=30 =20 =10 1] 10 20 a0

%
E

1200 — i x2 / ndf 29.27 / 38 w2 [ ndf 46.64 [ 41
- 2000 -
1000 p0 3.058 + 2.530 E L p0  0.6797 + 1.2358
aoo - 1500 T4 by
- p1 ~4.402 + 1.237 - e p1 5478 +0.17
600 — _ 1000 :— -
wof I ook
sof Al - :
L | ﬂ:?
o I IIIIIIIIIMHIII#I :
- | _500 F
~200 - I -
- 1000 [ -
~400 - - 4
= : .I.I.H_
eonE ~1500 |- IIIII‘II
: | I | I I | I | I I | I | I I | I | I I | I | EI ||I|| ||I| IIIII IIII ||||I ||||I 1111 I|||
10 5 0 5 10 30 -20 -10 € 10 20 30
dift diff bpmdeX
- x2/ndf  28.04/38 ¥2 / ndf 59.9 / 41 }
1500 F -
: 00 0.647 + 7.200 pO0 4.274 + 7.147 I
1000 |
| pi -22.04 +3.52 pi 25.79 + 0.97 II I
S0 | — J'II'IiI
- IIIIII - o 1 MM
L - . 1 H 1
of | IIIIIMWI | : IIIIIII ;
- } ~1000 I
=500 — i
1000 - ) ~2000 — *
~1500 | _3000 -
Foo o v v v b b 1 T by by b by bv v b a b
10 5 0 5 10 30 -20 -10 € 10 20 30
diff_bpm4ayY dlthpmégL
F - %2 / ndf 31.75 / 38 12 / ndf 53.06 / 41
15000 |
- I pO 7.189 + 73.342 p0 41.18 + 72.70 I I
10000
: p1 _266.3  36.0 pi 267.1+9.9 }I\ II
5000 _ i
i . A |
= } IMIW I - - | IIH
~5000 I it II 10000 :— - IIIIIII
1000 - i H
5 20000 |-
15000 |- I
Eﬂnnn :I I L 1 1 1 I | I 1 1 I L 1 1 1 I L 1 1 1 I | K

detjvs_diﬁ‘ “bpm-fit

diff_bpmdeY

¥Z / ndf 29.4 /36
p0 1.415 1 2.4594 #M*JIIII I
p1 3234+ 123 M | -
T IIIIIIIIIF’-r _
b 'IIIII *
-EI}Df—
_amf— _
-mnnf—
_12003—
T RN ST

diff_bpmdeY

¥ / ndf 30.87 /36

p0 1.728 £ 2.509 i HI‘IIIIII I

p1 35.34 £ 1.24 | i
iR

! :

=200

~400

-600

-800

= 1000

=1200

UL UL LI rrTryrrrjprria 1
I I I I I I

=10 -5 0 5 10

diff _bpmdeY

i} 12/ ndf 27.86 I 36

2000 p0 0.7185 + 7.2023

1 —
1000 P 30,21 £ 3.54

= 1000

= 2000

T T T T T T N T T Y A MO O N f I
=10 -5 1] 5 10

Ly

= 3000

9-.

iff _bpmdeY

[ - %2/ ndf 41.66 / 36
30000 [

- p0 9.355 + 73.381
20000 [

[ p1 -350 + 361
10000 [ -

Sy

o IIIIIIHMIIIIIIIIH i

10000 [ I -
20000 |-
EHDDD :-I | I . | I L1 1 1 I | I . | I | I I | I L1

10

postpan.png

dlthme

1000

00

(1]

500

=1000

=1500

=2000

-2500

=3000

-3500

diff _bpmE

12 [ ndf 16.68 /18

po

pi

- %2 / ndf 17.15/18
3 " pO 3.167 + 2.505
}_ _H -ﬁﬂhqqp'“-‘m+

5 IIIII pl  -2.882 + 0.374
i4 1 11 I 1 11 II | II L1 1 I L1 1 II 11 I 11 I II

-40 =20 0 20 40 60 80 100

3.446 = 2.528

0.2374 £ 0.3774

oo

=1000

=1500

= 2000

-2500

=3000

"-"1

1000

=1000

= 2000

=3000

=4000

=5000

91

20000

10000

10000

20000

30000

40000

50000

60000

LI 11 1 I 11 1 II l II 11 1 I 11 1 II | II 11 1 II

-40 =20 (1] 20 40 60 a0 100

iff bpmE

¥2 / ndf 24.65/18

IIII# | p0 2417 £7.174
II‘\“II p1 -17.71+1.08

'

-40 =20 0 20 40 60 80 100

iff _ bpmE

¥2 / ndf 30.66/18

I p0 31.09 £ 73.08

-169.4 £10.9

IIIMWI{“I pt

TI 1 11 I 1 11 II | II L1 1 I L1 1 II 1 II L1 1 II

-40 =20 (1] 20 40 60 80 100



.

diff_ bpmd4aX  diff_bpmdaY diff_bpmdeX iff_bpmdeY diff_bpmE

%2 [ ndf 40.83 / 39 72 ndi 40.96 / 38 : +2 1 nd 49.8 / 41 [ - 72/ ndf 38.64 / 36 °F %2 ndf 26.47 /18
200 200 |- N
pO ~1.031 + 0.749 } po —1.056 + 0.748 o p0 —0.7507 + 0.7492 - p0 ~1.163 + 0.748 o p0  —0.8345 + 0.7474
- 100 — N
p1  0.1033 + 0.5567 p1  0.1426 + 0.3664 100 - pl  —0.04558 + 0.10118 [ w pl  —0.1636 = 0.3700 S0 p1  —0.0485+0.1115
Z -|‘ t n A s ‘ | or ]l]l{l%rh Pt 'ﬂ"’rﬂ” ) 200
of M H+ + ; Hﬂ 100 - i - H } -
reg asym usl o - ui s of ot of
g_asym_ N U 138 /P— . |
E - i i } ]U[ t ' ‘H'\ g + -200 1~ b O +.|,+ {{
-100 - -100 - : | *
- ; -1 _} _ 150 } -300 - 100 - -
S - - : -
B I _ 200 a0 - -200 |- i
—2"}':'-Illllllllllllllllllllllllllll —E‘DD_I|||||||||||||||||||||| ‘|‘||||||||||||||||||||||||||||||||||||| _I||||||||||||||||||||||| T||||||||||||||||||||||||||||||
-G -4 -2 0 2 4 B =10 =D L 5 10 =30 =20 =10 0 10 20 30 =10 =D 0 5 10 40 <20 0 20 40 B0 B0 100
diff bpm4aX  diff bpmd4aY  diff _bpmdeX diff _bpmdeY diff_bpmKE
w2 / ndf 45.83 / 39 %2 { ndf 36.57 / 38 E - ¥/ ndf 53.78 / 41 [ - %2/ ndf 40.65 / 36 B ¥ / ndf 22.79 /18
PO -0.784 £ 0.730 PO -0.9164 = 0.7287 o PO —0.5426 + 0.7300 PO —0.8919£0.7285 oor PO —0.6346 + 0.7281
p1  0.1522 + 0.5415 | p1 0.2201+ 0.3564 100 * pl  —0.08725 + 0.09856 e pl  —0.1778 = 0.3604 200 |- pl  —0.05361+ 0.10877
: ; 50 | S NS :
o | hﬁ ittt 100 |- - er Mi e g le | - woE
n i H poorT H - - { |‘ oE J H‘| t, + H - 1 * .
N B C + } { il - L -
reg_asym_dsl af N l WLt | o
— — = o 11T ’ W‘tﬂlﬁ% -850 - w B ﬂ_
[ - { [ - | }Hi' Hr i- u } i B ]l
100 F - ~100 | - n -
E ook ]l : ~200 - v 100 [~ }
_150 - i -150 - i -
- soo - ) s00F ~300 - ) 2001 )
_E.DD—_Illl||||||||||||||||||||||I||| _||||||||||||||||||||||| ;Illllllll|||||||||||||||||||||||||||| _I||||||||||||||||||||||| _||||||||||||||||||||||||||||||
-6 -4 -2 0 2 4 B =10 b L 5 10 =30 =20 =10 0 10 20 K H =10 b 0 5 10 -40 =20 0 20 40 B0 B0 100
diff _bpmdaX dethmAaL diff bpmdeX  diff_bpmdeY diff bpmE
2000 - x*/ndf  33.88/39 %2/ ndf 28.27 /38 12/ ndf 59.78 / 41 3000 - %2 { ndf 29.56 / 36 %2 I ndf 23.43 /18
i PO 4.063 + 7.131 pO 1.806 + 7.121 po 3.924 +7.138 2000 |- po 1.295 £ 7.125 po 3661 £7.118 |
L - s00F N i Lr — .
o HW‘M%AMH} - ] | T o HH”EF'*' ' "i"'l'*||||}|H | - ”} } :
- H}{h‘r - b 'ulHH * ] N K } o WLHH{}M% ~2000 [
reg_asym_usr B | WHWWW M | o | z “ M, :
— — _1o00 B | _ C _1o00 - __
i _ e - ~2000 |- _ 000 -
L |- - 5 ~2000 | R
2000 - _ =1000 - ~3000 |- C ~4000 —
:|||||||||||||||||||||||||||||| _1EDD?||||||||||||||||||||||| -“’DDD_T||||||||||||||||||||||||||||||||||||| _MDD:||||||||||||||||||||||_| |:|||||||||||||||||||||||||||_|||
-6 -4 -2 0 2 4 B =10 =5 0 5 10 =30 =20 =10 0 10 20 a0 =10 =5 0 5 10 =40 =20 0 20 40 B0 8D 100
didf _bpmdaX diff _bpmdaY diff _bpmdeX diff_bpmdeY diff _ bpmE
: } %2 / ndf 32.8/39 - %2 / ndf 32.47 /38 s %2 / ndf 51.84 / 41 20000 - ¥2/ndf  43.47/36 ¥2/ndf  29.16/18
15000 — B B 15000 = -
10000 - } p0 58.17 + 72.51 10000 |- p0 21.28 + 72.46 10000 p0 40.28 + 72.60 sooon F- p0 17.49 + 72.54 p0 45.66 + 72.42
5000 |- pt  -22.78 + 54.17 cooo ! pl  -8.978 + 35.500 5000 p1  -8.326 + 9.863 i pl  -2462 +35.62 p1 13.16 £ 10.83 |
oF - MHWH%W@-& LT - oM - 10000 L - DOUT T
: t *’WM of | H H%@,Mwﬂ } ] a3 hﬁ" WL "'”M ' ; JrMHH F ]
o : 4 - o | - =
reg_asym_dsr - | AL | s || B ikt -
g— y — 10000 _ | | R 10000 |- [ 10000 } ' 30000 ;_
15000 [ - I - - |- o
: 10000 [ 15000 - } »0000 - 40000
20000 : 2 N -
o 15000 — 20000 — B 50000 —
25000 - - - 30000 : _
:||||||||||||||||||||||||I||| _|||| |||| |||||||||||| EEDDD-I-_|||J_|_|||||||I||||I|||| :|||||||||||||||||||||||| El.I::"::“:"r-'l_ll||||||||||||||||||||||||||||

run3524 000 regression reg maindet vs diff bpm-fit postpan.png e




asym_usl

asym_dsl

asym_usr

asym_dsr

run3524 000 reg

1000

=1000 —

2000 —

=3000 —

2000 —

1000

=1000 —

2000 —

=3000 —

diff_bopm4aX/um

6000

4000

2000

2000 —

4000 —

6000 —

diff_bpmdax/um

it

80000 —

60000 —

40000 —

20000 —

20000 —

40000 —

BO000 —

diff_bpmdaX/um

[ 11
§ 4 -2

2000 —

1000

=1000 —

_2p00 | e

=3000

B | | | 1 1 1 | 1 1 1 1 | | I | | | 1 1 1 1 |
10 -5 0 5 10
diff_bpmda¥ium

2000 —

1000 —

=1000 —

=2000 —

=3000 —

T T T I T T N N T T A N O B B
=10 -5 0 5 10
diff_bpm4a¥ium

diff_bpmdaY

2000 —

1000

~1000
2000 CLT

-3000 —

30 -20 -10 O 10 20 30
diff_bpmdeX/um

2000 —

1000

=1000 —

2000 L

=3000 —

=30 =20 =10 1] 10 20 30
diff_bpmdaX/um

BO0OO f— 6000 f—
4000 f— 4000 f—
2000 E— 2000 E—
=2000 E— =2000 E—
~4000 E— ~4000 E—
~6000 E— ~6000 f— '-
I R A N N SR A S R R B B B R B B A o b b b by b lanaa Lo
=10 =5 0 5 10 =30 =20 =10 o 10 20 a0
diff_bomdaYium diff_bpm4ax/um
] iff bpmdeX
soooo — T 80000 - |
BOO0OO f— . 60000 f— \
40000 f— 40000 f—
20000 f— 20000 f—
of of
20000 f— 20000 f—
40000 f— 40000 f—
60000 f— 5. 60000 :—
B ||||_|_||||||||||||||||||||||||

l'eSSlOIl""”""‘ﬂSVll’l maln

indetvs diff*

" bpmescat

2000 —

1000

=1000 —

=2000 —

=3000

10 -5 0 5 10
diff_bom4eY/um

2000 —

1000

=1000 —

=2000 —

=3000 —

=10 -5 1] 5 10
diff_bpmdaY/um

6000

4000

2000

=2000 —

=4000

6000 —

10 -5 0 5 10
diff_bpmdeY/um

80000 —

60000 —

40000 —

20000 —

20000

40000

BO000 T,

10

_postpand"rmg

2000 —

1000 —

=1000 —

=2000 —

=3000

80 100
diff_bpmEfum

2000 —

1000 —

=1000 —

=2000 —

=3000 —

-40 =20 0 20 40 60 BO 100
difi _bpmEfum

6000 —

4000 —

2000 —

=2000 —

=4000

6000 —

80 100
diff_bpmEfum

80000 —

60000 —

40000 —

20000 —

20000 —

40000 —

60000 —

40 =20 0 20 40 60 a0 100
diff _bpmEfum



reg_asym_usl

reg_asym_dsl

reg_asym_usr

reg_asym_dsr

run3524 000 regre

400 -

200 —

-200 —

400 —

600 —

~800 —

400 —

200

-200 —

400 —

diff_bopm4aX/um

~600 —

-800 —

8000

diff_bpmdax/um

6000 —

4000 —

2000

=2000 —

4000 —

6000 —

80000 —

diff_bpmdaX/um

60000 —

40000 —

20000 —

20000 —

40000 —

BO000 —

.

200 —

=200 —

400 —

T IR

_B.DD_|IIII|IIII|IIII|IIII|

10 -5 0 5 10
diff_bpmda¥ium

400 —

200

=200 —

400 —

600 —

-BO0 | | | | |

=10 -5 (1] 5 10
diff_bpmda¥/um

8000

6000 —

4000 —

2000 —

2000 —

4000 —

6000 —

10 -5 0 5 10
diff_bpmda¥ium

60000 —
40000 —

20000 —

20000 —

40000

60000 —

* 400

200

=200

~400

=600

-800

400

200

- 200

~400

-600

-800 —

8000

6000

4000

2000

= 2000

=4000

~B000

80000

60000

40000

20000

20000

40000

60000

-30 =20

10 0 10 20 30
diff_bpmdeX/um

=30 =20

=10 1] 10 20 30
diff_bpmdaX/um

_III||_|_II|

10 0 10 20 30
diff_bpmdeX/um

ression-reg maindet-vs diff bj

0

pm-sca

* 400

200

- 200

~400

=600

-B00

400

200

- 200

~400

-600

- 800

80000

60000

40000

20000

20000

40000

60000

10 -5 0 5 10
diff_bom4eY/um

10 -5 0 5 10
diff_bpmdeY/um

1t postpan.png-

.

200

=200

~400

=600

-800

-40 =20 0 20 40 60 80 100
diff_bpmEfum

400

200

- 200

~400

-600

- 800

60 BO 100
difi _bpmEfum

8000

6000

4000

2000

= 2000

=4000

6000 —

-40 -20 0 20 40 60 80 100
diff_bpmEfum

40 =20 0 20 40 60 a0 100
diff _bpmEfum



